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No|semAR| Bma | TEE) eam Bolkd) ammn|mEAE| [N |xxAa| sme | BRI a0 pean gaAa| (N |xxAe| sme | PRSI eae L 0O pgan pags
L L L
1| R64.17 |=7koHh |B&ETH |HEH THRHE R6.3.1 R6.3.4 51| R6.65 |=/RTh |AET  |HMEBETE T R6.5.22 | R6.5.23 101| R6.6.27 4/ | KT |IBFRRAIFH 13.1 R6.6.17| R6.6.19
2| R6.4.17 |4/ Xigm |[BFERBER 19.4 R6.4.1 R6.4.3 52 R6.65 |(=/RrTh |BEM |HEBETER #H | R6522 | R6.5.23 102| R6.6.27 1/ | Rigm [FHWLEEHB 17 R6.6.17 R6.6.19
3| R6.4.17 |4/ Kisd SR LEIE T R6.4.1 R6.4.3 53| R6.6.5 |=/hoTh |(BE™ |#HEBETR T R6.525 | R6.5.27 103| R6.7.10 | =R Uh |RET |#EBETHE T R6.6.21| R6.6.24
4| R6.417 |4/ KT |ESHWE)NE 12 R6.4.3 R6.4.5 54| R6.65 |—hTh |AET |HSETE 7.82 R6.525 | R6.5.27 104| R6.7.10 | =R Uh |RET |#EBETHE T R6.6.21| RG6.6.24
5| R6.4.17 |1/ Kigm ‘S ILFHE T R644 | R6.48 55 R6.65 |1/ Kigm  |[IBFRRATFH 28.3 R6.5.24 | R6.5.27 105/ R6.7.10 4/ | KRBT |IBFERRFIR 17.3 R6.6.22| R6.6.25
6| R64.17 |=Fhoh |REH [9E 10.9 R6.3.21 | R6.4.8 56/ R6.6.5 |1/ KRG  |EHLF EEILTILE 12.9 R6.5.24 | R6.5.27 106 R6.7.10 1/ | Kigth  |[EHILHMA 46.1 R6.6.24| R6.6.26
7| R6417 |=/RoCHh |AET  |[KE % | R6321 | R648 57| R6.65 |(=RoPh |BEM |HEBETER T R6.5.27 | R6.5.28 107| R6.7.10 1/ Y | KT |IBFRRBERN 374 R6.6.26| R6.6.28
8| R6.4.17 |=/Rh>Th |BEMH |BAM #H | R6.3.21 | R6.4.8 58| R6.65 |1/ Kigm |[FHlLEELLEG 276 R6.5.25 | R6.5.28 108| R6.7.10 A/ | K™ (IBFRRAFH 25.9 R6.6.27 R6.7.1
9| R6.4.17 |=/R>ThH |AET |BEH #HE | R6322 | R648 59| R6.65 |=—hrTh |AEH |5 THEH R6.5.8 R6.5.29 109| R6.7.10 4/ | KgH  |BFERRLE/R 13.2 R6.6.29 R6.7.1
10| R6.4.17 |=FR>Ph |BET (B T#RH | R6.3.26 | R6.4.8 60 R6.65 |(=/RoPHh |BET |HR/G Nt R6.58 | R6.5.29 110| R6.7.10 A/ | K™ (IBFRRAFH T R6.6.29 R6.7.1
11| R6.4.17 |=/RoTh |[BEMH |KE 7.9 R6.3.27 | R6.4.8 61| R6.65 |[=7hoTh |B&E™H [KEB #H | R6512 | R6.5.29 111| R6.7.10 A/ |KBH  (IBFERRERTR 335 R6.7.1 R6.7.3
12| R6.4.17 |=/RoTh |BEMH |KE %Y | R63.27 | R6.48 62| R6.65 (=RoTHh |[BET | #&H | R6512 | R6.5.29 112| R6.7.10 1/ | Kigt |[EHILMA 23 R6.7.2 R6.7.5
13| R6.4.17 |4/ Xigh |[BFEREBR TR R6.49 | R6.4.11 63| R6.65 (=RoTHh |BEW |AE #&H | R65.12 | R6.5.29 13| R6.7.31 | =Ko PHh |B&EW (KK TR R6.6.19 R6.7.8
14| R6.4.17 |4/ KM |SHILTEE 15 R6.4.10 | R6.4.12 64| R6.65 (=RoTHh |[BEW |[/MEE #H | R6512 | R6.5.29 114 R6.7.31 | =Ko h |BEW |[E/# TR R6.6.22 R6.7.8
15| R6.4.17 |4/ Xigm |[SHIUTEE 176 R6.4.10 | R6.4.12 65 R6.65 [—RoPh |BET |BF #®H | R6518 | R6.5.29 115 R6.7.31 | =Ko oh |B&EW B T R6.6.22 R6.7.8
16| R658 |=rhoTh |BET  |HEBETE T R6.4.20 | R6.4.22 66| R6.65 |[=hoTh |B&T BB PN fan R6.5.18 | R6.5.29 116| R6.7.31 | —/KR>oh [BEH (B T R6.6.22 R6.7.8
17| R658 |=7R>Th |B&T  |HEBERETEAM T R6.421 | R6.4.22 67| R665 |[=hoTHh |B&T BB PN fan R6.5.18 | R6.5.29 117 R6.7.31 | —/RoTh [BEH (B T R6.6.22 R6.7.8
18| R658 |=/RHh |BE™H  |HEETE N R6.421 | R6.4.22 68| R6.65 |=rhoTh |B&T  |BFB PN fan R6.5.18 | R6.5.29 118| R6.7.31 | —/R>Th [BEH (A T R6.6.22 R6.7.8
19| R658 |=hkoThH |m&ET  |HBEE B4 | rR6421 | R6.4.22 69| R6.65 |=RoTh |[BEWH |K/H PN das R6.5.19 | R6.5.29 119 R6.7.31 | =R Uh |REH |B N das R6.6.22 R6.7.8
20| R658 |1/ % Xigh |[BFERRER 305 R6.4.20 | R6.4.22 70| R665 [=hRrTh |BEH |/MEER 7t | R6522 | R6.5.29 120| R6.7.31 | =—/RoPHh |B&ET |/MEE T R6.6.22 R6.7.8
21| R658 |[=hThH |AET  |8HE B | R6.423 | R6.4.24 71| R665 |=RThH |B&T |FWL N R6.523 | R6.5.29 121| R6.7.31 | =R Th |RETH |H%/IEG T R6.6.23 R6.7.8
22| R658 |=hrTh |RE™ |HEETR T#RH | R6.4.23 | R6.4.24 72| R665 |(—iRoUHh |BET |FHE N Jant R6.5.24 | R6.5.29 122 R6.7.31 | =R PHh |BEH (KRG TR R6.6.23 R6.7.8
23| R658 |=rhoTh |RE™  |HEETR T#RH | R6.4.23 | R6.4.24 73| R66.27 | =R Uh |BET |HEBETER &+ | R66.12 | R6.6.13 123| R6.7.31 | —/koPh |BE™H  |BIF T R6.6.23 R6.7.8
24| R658 |=hrTh |BEW |/MEE &Y | R6.4.18 | R6.4.25 74| R6.6.27 | —/hoTh |BE™ AR & | R66.12 | R6.6.13 124| R6.7.31 | =R Ph |B&EW  |FIL T R6.6.25 R6.7.8
25| R6.58 |[=HhoTAh |BEM [[INEE T#RH | R6.420 | R6.4.25 75| R6.6.27 | =R Uh |BETH |HEBETER 7#&H | R66.13 | R6.6.14 125 R6.7.31 | =7/hoTh |AE™H |&/# TR R6.6.23 R6.7.8
26| R658 [=RTh |BEM |[/IFEE T# | R6.4.21 | R6.4.25 76| R6.6.27 | =R H |BEM |HBETER EN - das R6.6.15 | R6.6.17 126] R6.7.31 | =R Th |R&EH |/IMIE T R6.6.26 R6.7.8
27| R658 |[=R2THh |BEM [/MEE T#RH | R6.4.21 | R6.4.25 77| R6.627 | =R Th |BET |HBETER #&H | R66.15 | R6.6.17 127| R6.7.31 | =Ko THh |BEW [/IMIE T R6.6.26 R6.7.8
28| R658 |=hrTh |REW |#E T#RH | R6.4.21 | R6.4.25 78| R6.6.27 | =R TH |[BEH |(RIF TR R6.6.1 R6.6.17 128| R6.7.31 | =7k Th |BE™H  |[/IMIIE T R6.6.26 R6.7.8
29| R658 |=RrTh |BEWM |HRTE #&H | R6.4.21 | R6.4.25 79[ R6627 | =R TH |[BEH |(BIF T R6.6.1 R6.6.17 129| R6.7.31 | =7k>Ph |BE™m  |FW T R6.6.23 R6.7.8
30| R658 [=/hoPAh |BEM |FIL #RH | R6.4.20 | R6.4.25 80[ R6.6.27 | =R Th |BHEH |(BIF T R6.6.1 R6.6.17 130| R6.7.31 | =7k>Ph |BEHm  |FW T R6.6.26 R6.7.8
31| R658 |[=h>Ph |BE™M |HBETRE #&H | R6.4.26 | R6.4.30 81| R6.6.27 | =Ko Th |[BEH |(BIF T R6.6.1 R6.6.17 131| R6.7.31 | =7k>Ph |BEHm  |FW T R6.6.26 R6.7.8
32| R658 |=hrTh |BE™M |HBETRE #&H | R6.4.28 | R6.4.30 82 R6.6.27 | =R Th |[BHEH |(BIF T R6.6.1 R6.6.17 132| R6.7.31 | =7/hoPh |REMH [/MARE 12.7 R6.6.26 R6.7.8
33| R658 [=ihrPh |BEWM |(HBERE 9.43 R6.4.28 | R6.4.30 83| R6.6.27 | =R THh |[BHEH (#HE 128 R6.6.2 | R6.6.17 133| R6.7.31 | =—ik>Ph |BE™m |KIFE T R6.6.29 R6.7.8
34| R658 |=R2Th |BEM |HEEETR T R6.5.1 R6.5.2 84| R66.27 | =R THh |BEH [EEH N das) R6.6.2 | R6.6.17 134| R6.7.31 | =—7k>Ph |BE™m |KIFE T R6.6.29 R6.7.8
35| R6522 [/ Kigm |[SHILTEWLABA] 14.7 R6.57 | R658 85| R6.6.27 | =K Uh |BE™H [Hh/IF N das] R6.6.5 | R6.6.17 135 R6.7.31 | =—7/hoPh |REMm | KRNE N dan! R6.6.29 R6.7.8
36| R6522 [=h o a&™m  |/IEE T#RH | R6.4.24 | R658 86| R6.6.27 | =R Uh |BE™H [E&EH N das) R6.6.5 | R6.6.17 136| R6.7.31 | =—7k>Ph |REm  |[IIEE T R6.6.29 R6.7.8
37| R65.22 [=HRL D rEM |BRE %Y | R6424 | R658 87| R6.6.27 | =K Th |BE™H [/MIE N Tant R6.69 | R6.6.17 137| R6.7.31 | =—ik>Ph |BEH  |RIG T R6.6.30 R6.7.8
38| R6522 |=7Fh>Th |BEWM |BRFIE %Y | R6427 | R658 88| R6.6.27 | =R TAh [B&EM (B 12 R6.69 | R6.6.17 138| R6.7.31 | =—ik>Ph |BEH |RIG N dan! R6.6.30 R6.7.8
39| R6522 [=7h>Ph |BEM |[HAE %Y | R6.427 | R658 89| R6.6.27 | =R THh |BE™H (AHE N das) R6.69 | R6.6.17 139| R6.7.31 | =7/RoPh |R&EMm (B T R6.6.30 R6.7.8
40| R6522 (=R TAh |REH |(BIF N Tant R6.53 | R658 90| R6.6.27 | =K Th |BEH [/MIE N Tant R6.69 | R6.6.17 140| R6.7.31 | =—7k>Th |BE™H  |HEE T R6.6.30 R6.7.8
41| R65.22 |=Ro BEM  |(BE N Tant R6.53 | R6.5.8 91| R66.27 | =R THh |BE™H (AHE N das] R6.69 | R6.6.17 141| R6.7.31 | =—7k>Ph |RE™m |[/IMEE N dan! R6.7.3 R6.7.8
42| R6522 (=R THh |REH (B N Fant R6.54 | R658 92| R6.627 | =/R>Th |BET |FWL T R6.69 | R6.6.17 142| R6.7.31 | —7/koPh |RE™m |(BK/HE T R6.7.3 R6.7.8
43| R6.5.22 [1/2% Kigm  |SHLULEEFEME 139 R6.5.7 | R6.5.13 93| R6.6.27 | =R Uh |BEH [/MEE T R6.69 | R6.6.17 143| R6.7.31 | —/hoTh |BS™H  |JAE EN R6.7.3 R6.7.9
44 R6522 |=7/R>Th |BE™  |HEEETR &+ | R65.18 | R6.5.20 94 R6.627 | =/R>Th |BET |IE N Tant R6.69 | R6.6.17 144| R6.7.31 4/ | KigH (SR 1.2 R6.7.6 R6.7.9
45| R6.5.22 |=7/R>Th |BE™  |HEETR #H | R6.5.18 | R6.5.20 95 R6.6.27 | =R UHh |[BE™H |(BFARIE N Tant R6.69 | R6.6.17 145| R6.7.31 4/L | Kt (SR 12.7 R6.7.6| R6.7.12
46| R6.5.22 |=7/R>Th |BE™  |HEEETR #H | R6.5.18 | R6.5.20 96| R6.6.27 | =R TH [BEM |[+/\BE N Tant R6.69 | R6.6.17 146| R6.7.31 4/ | KT |BFERRBERT T R6.7.11| R6.7.12
47| R6522 [1/I% Kigm |(IBFERABR 1.1 R6.5.18 | R6.5.20 97| R6.6.27 | =K Th |BEH (HHE N Tant R6.6.13 | R6.6.17 147| R6.7.31 | =—7k>Th |RE™m  |HBETKE TigH R6.7.11| R6.7.16
48| R665 |=ZhRThH |RET |4EH T#RH | R6522 | R6.5.23 98 R6.6.27 | A/Y (K™ |[BEHILFMA TEH R6.6.15 | R6.6.18 148| R6.7.31 | =R Uh |REM |HEBETKE T R6.7.14| R6.7.16
49| R6.65 [—hoPh |BHM |HEBER &4 | R6522 | R6.5.23 99| R6.627 | =R Th |BEM |HEBETER 10.6 R6.6.18 | R6.6.19 149| R6.7.31 | —7k>Ph |RE™  |HEBETR T R6.7.14| R6.7.19
50 R6.65 |=7hrih |BHE™ |HEBER #&H | R6522 | R6.5.23 100| R6.6.27 | =Ko h |BE™ |#BETE &+ | R66.18 | R6.6.19 150/ R6.7.31 A/ | K™ (IBFERREBR 9.8 R6.7.17| R6.7.19
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No| REAR| RBY¥E | i FEE H‘%é WEAR|REARB| | No |[RRAB| BY¥E | Dpd) 2% H&‘;,f,li WEAR | REAR| | No |RRAR| BRE | Ly 2% m%,@ WEAR |BREAH
L L L
151 R6.7.31 A/ | KigT  |IBFRRAET 9.72 R6.7.17| R6.7.19| | 201 251
152 R6.7.31 A/20 | Kigh  |IBFERRAF R R6.7.17| R6.7.19| | 202 252
153| R6.7.31 4/ |Kighm  [SHILT—FE R R6.7.18| R6.7.22| | 203 253
154 R6.7.31 4/20 | Kigh  |IBFERAR R R6.7.20| R6.7.23| | 204 254
155| R6.7.31 | —/R>Uh |REM  (MH e R6.7.6] R6.7.24| | 205 255
156| R6.7.31 | =R Th |BAE™m | KFRIE e R6.7.6] R6.7.24| | 206 256
157| R6.7.31 | =R Th |RE™m |[/MEE e R6.7.6| R6.7.24| | 207 257
158| R6.7.31 | =/ R>Uh |REH |(BIF N dant R6.7.6| R6.7.24 | 208 258
159| R6.7.31 | =/ R>Uh |RETH |(BF TR R6.7.6| R6.7.24 [ 209 259
160| R6.7.31 | —/R>Th |REM  [FLU TR R6.7.6| R6.7.24[ | 210 260
161| R6.7.31 | —/R>oh |REM  |[FLU TR R6.7.6| R6.7.24| | 211 261
162| R6.7.31 | =R Th |BAE™m | KEIE TR R6.7.7| R6.7.24| | 212 262
163| R6.7.31 | =R Th |BAE™m | KEIE TR R6.7.7| R6.7.24| | 213 263
164| R6.7.31 | —/R>oh |REM  |[FLU TR R6.7.10[ R6.7.24| | 214 264
165| R6.7.31 | —/R>oh |REM  |[FLU TR R6.7.10[ R6.7.24 | 215 265
166| R6.7.31 | =/ R>Th |BEMH |[T/\BE T R6.7.14| R6.7.24 | 216 266
167| R6.7.31 | =Rk oh |BAET [HE 14.7 R6.7.15| R6.7.24 217 267
168| R6.7.31 | =ik Th |BE™H |E/H T R6.7.15| R6.7.24 218 268
169| R6.7.31 | =ik Th |BEH |E/H T R6.7.15| R6.7.24 219 269
170| R6.7.31 14/ |Kighm  [EHUENR T R6.7.22| R6.7.24 220 270
171 221 271
172 222 272
173 223 273
174 224 274
175 225 275
176 226 276
177 227 277
178 228 278
179 229 279
180 230 280
181 231 281
182 232 282
183 233 283
184 234 284
185 235 285
186 236 286
187 237 287
188 238 288
189 239 289
190 240 290
191 241 291
192 242 292
193 243 293
194 244 294
195 245 295
196 246 296
197 247 297
198 248 298
199 249 299
200 250 300
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